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Find the slope. Clearly show work AND use the correct variable notation.
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Rewrite in slope-intercept form.

notation.
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Sketch the graph of each line using any method
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Graph: USE[TABLE METHOD

(order pairs must be integers):

State the slope and yintercept using the correct variable
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Graph: USE INTERCEPT METHOD: (1) give the ordered pairs for the intercepts,
(2) Label the intercepts the graph with the correct variables.
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(10pts each) Graph: USE SLOPE-INTERCEPT METHOD:
(1) State the slope & y-intercept using the correct variables. (2) Clearly mark 3 points.
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(12pts each) Graph: USE SLOPE-INTERCEPT METHOD:
(1) Clearly show your work

(2) State the slope & y-intercept using the correct variables.
(2) Clearly mark the y-intercept and 2 additional points.

16) 5 2y =_8 E— STANDAZAN Foem\ 17) 4x — v = —4
) 5x +2y R, ) dx -y

"5

Ay

o

A

4
24

=Y

1 1
18) -1-3y-g%=0 /;::::f\\\
Ay m ‘.Il.' “ &l

1 -3
f;—s-4-s-2—11 > %.’: ‘é‘){“"a
\;ﬂ\—

A4-



